

Tabulation Of Bids

Event # : 133

Version: 1

Name: Fire Sprinkler System Services and Maintenance

Description: The City of Fort Lauderdale, Florida (City) is seeking bids from qualified, experienced, and licensed firm(s), hereinafter referred to as the Contractor or Bidder, to provide labor and materials to conduct inspection and repairs to the fire sprinkler system for various City facilities, in accordance with the terms, conditions, and specifications contained in this Invitation to Bid (ITB).

The initial contract term shall commence upon date of award by the City, and shall expire one year from that date. The City reserves the right to extend the contract for three, additional one- year terms, providing all terms conditions and specifications remain the same, both parties agree to the extension, and such extension is approved by the City.

Open Date: 09/15/2023 02:00:00 PM

Close Date: 10/10/2023 02:00:00 PM

Event Currency: USD

Supplier

SENTINEL FIRE PROTECTION & SERVICE CO. INC.

5708 SW 25th Street West Park, FL 33023 **Bid Amount**

136,800.00

Items

Item: LABOR TO INSPECT FIRE PUMP

Description: Fire Pump Inspection - Labor to inspect fire pump.

Long Item Fire Pump Inspection - Labor to inspect fire pump during working hours. Quantities listed are an annual estimate. **Description:**

Unit of HR Measure: Quantity: 80.0000

October 10. 2023

CAM #24-0009 Exhibit 2 Page 1 of 6 Page 1

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	80.0000	95.0000000	7,600.00
Item: LABOR TO REPAIR	R FIRE PUMP.		
Description: Fire Pump Repair - Labor to re	pair Fire Pump		
Long Item Fire Pump Repair - Labor to re Description:	pair Fire Pump during work	ing hours. Quantities listed are a	n annual estimate.
Unit of HR Quantit Measure:	y: 80.0000		
	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	80.0000	165.00000000	13,200.00
Description: Fire Sprinkler System Testing Long Item Fire Sprinkler System Testing Description: estimate. Unit of HR Quantit Measure:	-		es listed are an annual
	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	80.0000	150.0000000	12,000.00
Item: LABOR TO INSPEC Description: Fire Sprinkler System Inspection Long Item Fire Sprinkler System Inspection Description:	on- Labor to Inspect Sprink	ler	al estimate.
•	y: 80.0000		
	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE	80.0000	95.0000000	7,600.00
October 10, 2023			Page 2

	Quantity	Unit Price	Extended Amount
CO. INC.			
Item: LABOR 1	TO REPAIR SPRINKLER S	YSTEM	
Description: Fire Sprinkl	ler Repair- Labor to Repair Fire Sprinkler Syster	n	
Long Item Fire Sprinkl Description:	ler Repair- Labor to Repair Fire Sprinkler Syster	n. Quantities listed are an annua	al estimate.
Unit of HR Measure:	Quantity: 80.0000		
	Quantity	Unit Price	Extended Amount

SENTINEL FIRE PROTECTION & SERVICE CO. INC.

Item: NON -CERTIFIED TECHNICIAN/HELPER

Description: Non -certified Technician/Helper - Non-Business Hours

Long Item Scheduled labor rate for non-certified technician/helper during non-business hours (weekends and holidays, after **Description:** work hours 5:00 pm to 7:30 am). Must be pre-approved by City. Quantities listed are an annual estimate.

150.0000000

80.0000

 Unit of HR Measure:
 Quantity: 80.0000

 Quantity
 Unit Price

 Extended Amount

 SENTINEL FIRE PROTECTION & SERVICE
 80.0000
 95.00000000
 7,600.00

SENTINEL FIRE PROTECTION & SERVICE CO. INC.

Item: NON -CERTIFIED TECHNICIAN/HELPER

Description: Non -certified Technician/Helper - Business Hours

Long Item Scheduled labor rate for non-certified technician/helper during business hours (7:30 a.m. - 5 p.m., Monday - **Description:** Friday). Quantities listed are an annual estimate.

Unit of HR Quantity: 80.0000 Measure:

QuantityUnit PriceExtended AmountSENTINEL FIRE PROTECTION & SERVICE80.000095.000000007,600.00CO. INC.CO. INC.CO. INC.CO. INC.CO. INC.

Page 3

12,000.00

Item: CERTIFIED NICET II OR III

Description: Certified NICET II or III - Non-Business Hours

Long Item Scheduled labor rate for certified NICET (National Institute for Certification in Engineering Technologies) II or III Description: technician during non-business hours (weekends and holidays, after work hours, 5:00 pm to 7:30 am). Must be pre-approved by City. Quantities listed are an annual estimate.

Unit of HR Quantity: 80.0000 Measure:

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	80.0000	180.0000000	14,400.00

Item: CERTIFIED NICET II OR III

Description: Labor Rates for Certified NICET II or III - Business Hours

Long Item Scheduled labor rate for certified NICET (National Institute for Certification in Engineering Technologies) II or III **Description:** technician during business hours (7:30 a.m. - 5 p.m., Monday - Friday). Quantities listed are an annual estimate.

Unit of HR Quantity: 80.0000 Measure:

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	80.0000	95.0000000	7,600.00

Item: ENGINEERING SERVICES

Description: Labor Rates for Engineering Services to include drawings

Long Item Labor Rates for Engineering Services to include signed and sealed drawings. Quantities listed are an annual **Description:** estimate.

Unit of HR Measure: Quantity: 80.0000

QuantityUnit PriceExtended AmountSENTINEL FIRE PROTECTION & SERVICE80.0000275.000000022,000.00CO. INC.CO. INC.CO. INC.CO. INC.CO. INC.

Item: EMERGENCY NON-BUSINESS HOURS

Description: Emergency Labor for Non -certified Technician/Helper Non-Bus

Long Item Emergency labor rate for non-certified technician/helper during non-business hours (weekends and holidays, after Description: work hours, 5:00 pm to 7:30 am). Must be pre-approved by City. Labor Rates for Engineering Services to include signed and sealed drawings. Quantities listed are an annual estimate.

Quantity: 80.0000 Unit of HR Measure:

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	80.0000	95.0000000	7,600.00

Item: BUSINESS HOURS - EMERGENCY

Description: Emerg. Labor for Non-certified Technician/Helper - Business

Long Item Emergency labor rate for non-certified technician/helper during business hours (7:30 a.m. - 5 p.m., Monday -**Description:** Friday). Quantities listed are an annual estimate.

Unit of HR

Quantity: 80.0000

Measure:

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE	80.0000	95.0000000	7,600.00

Item: NON-BUSINESS EMERGENCY

Description: Emerg. Labor for Certified NICET II or III - Non-Business

Long Item Emergency labor rate for Certified NICET (National Institute for Certification in Engineering Technologies) II or III Description: technician during non-business hours (weekends and holidays, after work hours, 5:00 pm to 7:30 am). Must be pre-approved by City. Quantities listed are an annual estimate.

Unit of HR	Quantity: 40.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	40.0000	125.0000000	5,000.00

Item: BUSINESS HOURS - EMERGENCY

Description: Emerg. Labor Rates for Certified NICET II or III - Business

Long Item Emergency labor rate for certified NICET (National Institute for Certification in Engineering Technologies) II or II **Description:** technician during business hours (7:30 a.m. - 5 p.m., Monday - Friday). Quantities listed are an annual estimate.

Unit of HR Quantity: 40.0000 Measure:

	Quantity	Unit Price	Extended Amount
SENTINEL FIRE PROTECTION & SERVICE CO. INC.	40.0000	125.00000000	5,000.00